Creature
Best attack forms
Worst attack forms

Armordillos



     Spiny to Sandy
piercing = 0.7, cold/elec = 0.8
Blunt=1.4, slash=1.2, fire=2

     Freshwater to Shore
piercing = 0.7, fire/elec = 1
Blunt=1.4, acid=2, slash=1.2

Banderlings 
Slashing/Cold = 0.9, Fire = 0.7, Elec = 0.6
Blunt=2

Drudges



     Skulker to High Slave
Slashing = 0.9, Cold/Fire/Elec = 0.6
Blunt=1.1

     Lurker to Ravener  
Fire = 0.9


Golems



     Mud
ice = 0.8, fire = 0.7
Acid = 3, all else = 1.2

     Wood
fire = 0.3, acid = 0.8
Slash/cold  = 1.2

     Water
fire = 0.5, elec = 0.3


Pierce = 2, slash/blunt = 3

     Ice
fire = 0.1, elec = 0.6, blunt = 0.8
Ice= 100!!, else = 1.2

     Limestone
blunt = 0.8, acid = 0.5
Pierce/slash=1.2,cold/fire=5

     Sandstone
blunt = 1, acid = 1
Cold/fire=5, pierce=3, slash=2

     Granite,
blunt = 1.2
Cold=10, fire/elec=5, acid/slash=3

     Obsidian
blunt = 1.2
Cold=10, other elems = 5, pierce=2, slash = 3

     Copper 
acid = 0.8, elec = 1, blunt = 1.2
Cold/fire =5, pierce=2, slash=3

     Iron
Acid = 0.3, elec = 0.6
Fire=10, cold=5, slash=3, pierce=2

     Magma
Ice = 0.7, slash = 2
Fire=100, acid=5, pierce/blunt/elec=3

     Diamond
blunt = 0.8, elems = 1
Pierce/slash = 3

Gromnies 
Slash/Pierce/Blunt = 1, elements vary
All elems on ash=2

Lugians 
elec = 0.8, acid = 1
Fire=2, cold=1.5

Mattekars 
Piercing/blunt = 0.9, fire = 0.7


Mites
Pierce/blunt/elec = 0.8, fire/acid = 0.5
Slash=1.4, cold=1.2

Monougas
Cold = 0.6
Blunt/fire = 2, elec = 1.4

Mosswarts
Pierc/blunt = 0.8, Fire = 0.4, Elec = 0.7
Acid = 1.5, cold = 1.2

Olthoi
Blunt = 0.6, piercing = 0.8
Acid=1.5, elec=2

Rats



     White to Red   
piercing/blunt = 0.5, fire = 0.4, acid/elec = 0.8


     Desert to Mountain 
acid = 0.8


     Silver
fire = 0.7, elec = 0.8


Sclavus 
Cold = 0.7, pierce/fire = 1, slash=0.8
Blunt=1.4, acid/elec=2

Sharks





     Reedshark Pup to Elder 


Blunt = 0.8, fire = 0.7, acid = 0.6
Cold=1.1

     Shallows Shark to Slayer


Piercing = 0.9
Cold=1.5, acid=2

Shadows 
slashing/fire = 1
Cold=10, acid=5, elec/pierce = 2

Shreths



Gnawer to Blood 
ice = 0.6, blunt/acid = 0.8
Fire=2, slash=1.2

Hunter and Vorous 
blunt = 0.8, ice = 0.6
Fire=2, acid/elec=1.5, slash=1.2

Tumeroks 
everything = 1


Tuskers 
Piercing = 0.8, fire = 0.7
Slash=1.5, elec=2

Undead



     Mu-Miyah 
fire = 0.4, blunt/slash/acid = 1
Pierc=1.2, cold=2, elec=1.4

     Skeletons
blunt = 0.5, fire = 1
Pierce=3, cold/elec=2

     Zombies 
slashing = 0.8, fire = 0.5, elec = 0.9
Cold=4

Virindi 
Most = 1
Cold/elec=2

Wasps
Blunt = 0.5, slash/pierc = 0.8


Wisps 
slash/blunt/pierc/elec = 1
Cold=10, fire from 3-10

Zefirs 
blunt = 0.9, all but fire/elec = 1
Fire=3, elec=2

